
Lösung Buchungskreislauf Übung 3  

 

 

 

Soll  801 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

4. 201 106.500 € 1. 012 35.000 € 

5. 352 20.000 € 2. 171 4.000 € 

     3. 181  87.500 € 

            

            

            

∑   136.500 € ∑   136.500 € 

 

Soll  201 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 14. 802 106.500 €  4. 801 106.500 € 

            

            

            

            

            

∑    106.500 € ∑   106.500 € 

 
 

Soll  012 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 1. 801 35.000 €  18. 802 35.000 € 

            

            

            

            

            

∑   35.000 €  ∑   35.000 €  

 
 

Soll  320 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 15. 802 13.500 €  10. 181 13.500 € 

            

            

            

            

            

∑    13.500 € ∑   13.500 €  

 
 

Soll  151 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 7. 352 5.000 €  19. 151 5.000 € 

            

            

            

            

            

∑   5.000 €  ∑   5.000 €  

 
 

Soll  352 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 9. 181 2.100 €   5. 801 20.000 € 

 16. 802 25.000 €  7. 151 5.000 € 

       8. 543 2.100 € 

            

            

            

∑    27.100 € ∑   27.100 €  

 
 

Soll  171 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 2. 801 4.000 €  20. 802 4.000 € 

            

            

            

            

            

∑   4.000  ∑    4.000 € 

 
 

Soll  378 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 17. 802 15 €  6. 182 15 € 

            

            

            

            

            

∑    15 € ∑   15 €  

 

  



Lösung Buchungskreislauf Übung 3  

 

 

 

Soll  181 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

3. 801 87.500 € 9.  352 2.100 € 

10. 320  13.500 € 21. 802  98.900 € 

            

            

            

            

∑   201.000 € ∑    201.000 € 

 

Soll  205 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 12. 803 2.100 €  13. 802 2.100 € 

            

            

            

            

            

∑   2.100 €  ∑    2.100 € 

 
 

Soll  182 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 6. 378 15 €  22. 802 15 € 

            

            

            

            

            

∑    15 € ∑    15 € 

 
 

Soll  802 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 13. 205 2.100 €  14. 201 106.500 € 

 18. 012 35.000 €  15. 320 13.500 € 

 19. 151 5.000 €  16. 352 25.000 € 

 20. 171 4.000 €  17. 378 15 € 

 21. 181 98.900 €       

 22. 182 15 €       

∑   145.015 €  ∑   145.015 €  

 
 

Soll  543 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 8. 352 2.100  11. 803 2.100 € 

            

            

            

            

            

∑   2.100 €  ∑   2.100 € 

 
 

Soll  654 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 6. 378 15 €   23. 804 15 € 

            

            

            

            

            

∑   15 €  ∑   15 €  

 
 

Soll  803 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 11. 543 2.100 €  12. 205 2.100 € 

            

            

            

            

            

∑   2.100 €  ∑   2.100 € 

 

 

 

 

 

Soll  743 Haben 

Buch.-
Nr. 

Gegen
-kto. 

Betrag Buch.-
Nr. 

Gegen
-kto. 

Betrag 

 24. 804 2.100 €  9. 352 2.100 €  

            

            

            

            

            

∑   2.100 €  ∑   2.100 €  
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Soll  692 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

10. 320 13.500 €    

            

            

            

            

            

∑   13.500 €  ∑   2.100 € 

 
 
 
Soll  804 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

23. 643 15 € 24. 743 2.100 € 

25. 692 13.500 €       

            

            

            

            

∑   13.515 €  ∑   2.100 € 


